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 T-test using child/children assistance and number of individuals in the household 


 Variable				Mean			t-statistic		      	   

Full Household       			7.62			1.651	
Child assistance by parent		6.50		            		

Note: *p<.05*, p<.01**, p<.001***

In Table 1, the table shows two variables being compared. It shows the differences between the variables with one variable being how many participants in household participated in the activities with the mean being 7.62 and another variable being how much assistance does the child receive from doing the activates with a mean of 6.50. With the variables being compared, the table above has given us the t-statistics that equals out to 1.651. The table also gave us the totaled p-value which is 0.1085. With this value being compared, this number shows there is no significant difference between the variables.  
